
. THIRD MID·-TERM TEST·- 2024
, . 

-' 
. · Standard· IX · Reg.No. :[ ___ l ..... l ...... l_,!

Time: 2.00 hrs. 

. . 
. MATHEMATICS 

Part - I Marks: 50 

I. 
. 

Choose. the correct answer: 8 x 1 = 8
1.· ·The semi-peri�eter .6f a triangle having sides·15 cm, 20_cm ·a�d 25 _ cm is

a)  60.cni , : · · b) 4! f

cm . · c) 30 cm d)'15 cm . 
2. The lateral surface area of a �ube :of side 12 ·cm is· · . 
 . a). 144 cm2 b.f 196.:cm2 .

. 
·.,

. 
 c) 57� Gin2 . . . d) 664 cm'2

3; :If the ratio of the sides of two cubes are 2:·3, theri ratio of their surface areas, will be . 
a)· 4:6 .··. . 

.
b)

.
A,:9  . c) 6:9· .· d)-16:36 

.

. 
4.· · The volume �f a

· 
cuboid is 660 cm.

3 and the are� of the bas� is 33 �m2• Its height  is � . . ' 
. . . 

- a) 10 ·cm : : . b) 12·cm· .. : c) . �w cm 
.

d) 22
° 

cm·
.  .  . . . 

5.- Which one is not true? ·. 
· a)" 1 cm3.:=:= 1 in/ . b) .. 1000-�n13-=:10·I.c). ·1ooncm3= 11 • d)_·1 m3

= 10001· . 
. 6. leFmi be the mid poirit �nd 'b' be the upper fimit of clas� in a continuous frequency .

. '  . . 
dist�ibution.- The lower:· lirrii

_
tpf. t�e class is.·· 

... 
. . 

 a) ,2rn.:.;. b · ·.. b) 2m + �, . c) · m.:.... b  ·.d) m-2b 
· . 7. The algebrai,G.S!Jm ·of the:deviations of a set of 'n' values froni their mean is  -

ar O . . · b) n'� 1 ..  .· ·· ·c). n 
.  

. d) n·.+ 1 
8. The mean of� set of numbers is· x , If each number is multiplied by.Z, .then mean is

 a)· x· · .  
. 

 b) · X �  . ·' · c) · x ' . . d) X . . + Z .  .  . .
. . . Z

: 
.  . Z . . 

It f'nswer any six of t�e f�ll<>wing. 6 x 2 = 12 
9 .. Write Heron's forrnola.Also ifa = b �c,'then find the area of the triangle by Heron's 

. . ' . . . , 
. . 

. . 

formula.   �  . '  . ' . . . 

· 10. fi_nd the TSA of� cuboid where length, breadth and heighfare ?.5- m� 3 m ·ancf 5 m .. 11 

respectively. :  . . _ 
11. _ If the totai surface area

.
of.� cube is· 4400 ·cm2

. the�, find its lateral surface ar�a .  
1.2.- A cubical· tanl.< can hJld 64,000 litres· of water. Find the length  of its side in metres; .
13. The.volume �fa co�tainer is .1440 m3• TheJength·and the .breadth,of the containe�.are 15 ·cm and 8- cm respec�iyely:· Finq its height. 

. . . 

· 14_ A cricketer played a ·matches and scored the following scores .
·· · ... - -· · ,. . . . . . 

25, 32, ·35: 38, 45, 41, 35, 36: Fi_nd the mean. . _ . 
15. The arithme�ic mean of 6 vallJes is 45 c1nd·if each v�lue is increased by 4, ·then find 

. . the arithmetic mean' of new set of value·s; · , ·. , .  

16. The·following are·scores obtai��d by 11 play�rs. in a cricket match,
7, 21,

. 
45, 12, 56, 35, "25, O, ·5a, 66,.29. Find _tlie median score. 

· 

17. The' median of.observation 11; 1.�. 14, 18_ x-f2, x+4,. 30, 32, 35, 4f arranged in·
ascending order is. 24. Find the value of x.
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